[ Efficiency vs vertpos |

=0.05
2.
2
20.04
o
&
L
£0.03
0
0.02
0

Efficiend

~0.05
9.
[
20.04
>
Q
&
8]
£0.03
]
0
0.02
0

0.

Ratio

0.0

045

035

025

015

................................................

&

AL LA AR RN RN LAty LR LR LA RRR AR LRRRE LALR

= .

10 1 10 0?
TP vertr (cr%)

[ fake+duplicates vs vertr

fake+duplicates vs. r

Ratio

l_

0.8

0.6

................................................

— DQV ariginal s[epZ tiar-p asel-newgeom

—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquareNew_step2_ttbar-phasel-newgeom
—+— DOM_pixelCPETemplateCutChiSquareNew?2_step2_ttbar-phasel-newgeom

045

035

025

015

005
le-

[ Efficiency vs. sim PV z |

N~ 0.7 -
> :
B Q.OQF -+ heveqriveeesdrees e b
£ :
'(7)0.08 """""""""""""""""""" e
L0.07[F - --keer{riormeedre b Foees
P :
F=T0R0]5) RETEC SRR (S FEPPPPRPPRI SPPIIS SRR Peeees
ko -
@] .
£0.05F -k +o {fipeeeederesben e b B
[J] H
0.04 b
0.08F -+ -e B poedoeeecbeen b B P
0.02 ceeehees
0.0 BT PO CRRE P B
N PO PP B AP
kel [T 1T T :
T | :
o H I I A
5 10 15 20

Sim. PV z (cm)

fake+duplicates vs. z

Ratio

©
©
T

o
2}
T

Vel

0.95
=3

-20 -10 0 20 30
track ref. point z (cm)

[ fake+duplicates vs Sim. PV z |

N
>
o

rate vs Sim

(%]

licate

[=%

fake+du

0.5
0.45

o
© w
w_a

0.25
0.2

©
O
= O

+

0.952

20 =15 -10 5 0 5

10 1520
Sim. PV z (cm)



	Contents
	Page 1


